Nimbus Therm  as4502. VEINLO

Produced from: Jan. 2021

Shower Thermostat
chrome A4502AA

.
i

0

G172 120

.
)

Part- Part-
Pos.  Description Number Qty. Pos.  Description Number Qty.
1 Handle cpl. A 861 370 AA 1 Set
2 Thermostatic Cartridge cpl. A 861 371 NU 1 pcs
3 Stopring A 861 373 NU 1 pcs
4 Cartridge G1/2 180° cpl. A 861 245 NU* 1 Set
5 Nipple G1/2 outside cpl. A 861 374 NU 1 Set
6 Non-return valve A 861 498 NU 1 Set
7 Fibre ring A 961 139 NU 1 pcs
8 Sieve insert A 963 365 NU 1 pcs
*Universal set (not all parts needed)

Nimbus Therm



Nimbus Therm

A4502..

VEILO

Produced from: April 2008 - Dec. 2020

276

s ol

il

Shower Thermostat
chrome A4502AA

2
Part- Part-

Pos.  Description Number Qty. Pos.  Description Number Qty.
1 Cap for handle A 962 221 NU 1 Set 13 Coupling nut G1/2 - SW24
2 Screw Ejot PT KB50x10 14 Non-return valve DW15 A 962 594 NU 2 pcs
3 Handle for Temp. + Volume A 962 222 AA 1 pcs 15 O-ring @17x2 A 961 810 NU 2 pcs g
4 Screw M4 L=23,5 A 962 998 NU 2 pcs 16 Seat connector M20x1 outside - M15x1,5 inside left thr. ()
5 Temp. adjustment compl. A 963 427 NU 1 Set 17 O-ring ©12,42x1,78 A 962 332 NU 2 pcs -
6 Thermostatic Cartridge F 961 044 NU 1 pcs 18 Seat M15 x 1,5 left thread |
7 Repair-Set Cartridge A 962 230 NU 1 Set 19 Strainer ( screen) A 963 365 NU 1 pcs g
8 Body for Bath/shower & Shower 20 O-ring @17x2 A 961 810 NU 2 pcs o]
9 Handle insert + stopring A 963 432 NU 1 Set 21 Nipple M20x1 - G1/2 outside E
10 Cartridge A 861 245 NU 1 pcs —
1 Cover for Shower 120mm A 962 224 AA 1 pcs 4
12 Back plate ( frame

Nimbus Therm



Nimbus Therm

A4502..

VEILO

Produced from: April 2008

| 276

5 ol

-

Shower Thermostat

chrome A4502AA

2
Part- Part-

Pos. Description Number Qty. Pos. Description Number Qty.
1 Cap for handle A 962 221 NU 1 Set 13 Coupling nut G1/2 - SW24
2 Screw Ejot PT KB50x10 14 Non-return valve DW15 A 962 594 NU 2 pcs
3 Handle for Temp. + Volume A 962 222 AA 1 pcs 15 O-ring 917x2 A 961 810 NU 2 pcs E
4 Screw M4 L=23,5 A 962 998 NU 2 pcs 16  Seat connector M20x1 outside - M15x1,5 inside left thr. ‘5
5 Temp. adjustment compl. A 963 427 NU 1 Set 17 O-ring @12,42x1,78 A 962 332 NU 2 pcs -
6 Thermostatic Cartridge A 962 229 NU 1 pcs 18  Seat M15 x 1,5 left thread =
7 Repair-Set Cartridge A 962 230 NU 1 Set 19  Strainer ( screen) A 963 365 NU 1 pcs g
8 Body for Bath/shower & Shower 20 O-ring @17x2 A 961 810 NU 2 pcs o]
9 Handle insert + stopring A 963 432 NU 1 Set 21 Nipple M20x1 - G1/2 outside E
10  Headwork ( Cartridge ) A 963 400 NU 1 pcs —
11 Cover for Shower 120mm A 962 224 AA 1 pcs <
12 Back plate ( frame)

Nimbus Therm



Nimbus Therm A4503.. A5538.

Produced from: Jun. 2020

Shower Thermostat

chrome

A4503AA

with slide bar set 60cm
chrome

AS5538AA

Part- Part-

Pos.  Description Number Qty. Pos.  Description Number Qty.
1 Cap for handle A 962 221 NU 1 Set 15 Lock ring
2 Screw Ejot PT KB50x10 16 Strainer (screen) A 962 595 NU 2 pcs
3 Handle for Temp. + Volume A 962 222 AA 1 pcs 17 O-ring @17x2 A 961 810 NU 2 pcs E
4 Screw M4 L=23,5 A 962 998 NU 2 pcs 18 Nipple complete A 861 498 NU 1 Set (-
5 Temp. adjustment compl. A 963 427 NU 1 Set 19 Escutcheon -C:)
6 Thermostatic Cartridge A 962 229 NU 1 pcs A
7 Repair-Set Cartridge A 962 230 NU 1 Set Universal-Set (not all parts needed) -

2

8 Body for Shower 3
9 Headwork ( Cartridge ) A 861 245 NU 1 Set
10 Handle insert + stopring A 963 432 NU 1 Set g
11 Coupling nut G3/4 - SW30 2z
12 O-Ring @14x1,78 F 960 894 NU* 1 pcs
13 Seat M17 x 1 left thread
14 Non-return valve DW15 A 962 594 NU 2 pcs

Nimbus Therm



S ————

Nimbus Therm A4503.. A4504.. A5538.. VEINMLO

Produced from: April 2008

306
Bath/Shower Thermostat

chrome A4504AA 150 G3/4
/ 81
amn 18]

306 -———174

G3/4 — B
’4—150—»‘ / G1/2
axn 1@]

Shower Thermostat
chrome A4503AA 48

with slide bar set 60cm
chrome A5538AA

O

2
Part- Part-

Pos. Description Number Qty. Pos. Description Number Qty.
1 Cap for handle A 962 221 NU 1 Set 15  Non-return valve DW15 A 962 594 NU 2 pcs
2 Screw Ejot PT KB50x10 16 O-ring @17x2 A 961810 NU 2 pcs
3 Handle for Temp. + Volume A 962 222 AA 1 pcs 17 Seat M20 x 1 left thread E
4 Screw M4 L=23,5 A 962 998 NU 2 pcs 18  Strainer ( screen) A 962 595 NU 2 pcs -
5 Temp. adjustment compl. A 963 427 NU 1 Set 19  Nipple M20x1 - G1/2 outside Q
6 Thermostatic Cartridge A 962 229 NU 1 pcs 20 Nipple M20x1 - M6 inside L
7 Repair-Set Cartridge A 962 230 NU 1 Set 21 Seal plate l;
8 Body for Bath/shower & Shower 22 O-Ring @96x1,5 =]
9 Handle insert + stopring A 963 432 NU 1 Set 23  Cylindrical screw M6x12 DIN 6912 2
10  Headwork ( Cartridge ) A 963 400 NU 1 pcs 24  Diverter complete A 963 336 AA 1 pcs E
11 Cover for B/S&Shr 150mm A 962 223 AA 1 pcs 25 Spout complete A 4512 AA 1 pcs 2
12 Back plate ( frame) 26  Aerator M24x1 -D- A 960 537 AA 1 pcs

13  Ring (Clip)
14 Coupling nut G3/4 - SW30

Nimbus Therm



T ———

Nimbus Therm A4503.. A4504.. A5538.. VEINLO

Produced from: April 2008

306

Bath/Shower Thermostat G3/4
chrome A4504AA rf‘l 50—»‘ / o
— -
amn I

- 306 ———174—> l
rﬁ » / — G1/2
aD 18] N Shower Thermostat
e : chrome A4503AA — ™1 48

= @‘

-

with slide bar set 60cm
chrome A5538AA

2
Part- Part-

Pos. Description Number Qty. Pos. Description Number Qty.
1 Cap for handle A 962 221 NU 1 Set 15  Non-return valve DW15 A 962 594 NU 2 pcs
2 Screw Ejot PT KB50x10 16 O-ring @17x2 A 961810 NU 2 pcs
3 Handle for Temp. + Volume A 962 222 AA 1 pcs 17  Seat M20 x 1 left thread E
4 Screw M4 L=23,5 A 962 998 NU 2 pcs 18 Strainer ( screen ) A 962 595 NU 2 pcs -
5 Temp. adjustment compl. A 963 427 NU 1 Set 19 Nipple M20x1 - G1/2 outside (O]
6 Thermostatic Cartridge A 962 229 NU 1 pcs 20 Nipple M20x1 - M6 inside L
7 Repair-Set Cartridge A 962 230 NU 1 Set 21 Seal plate l;
8  Body for Bath/shower & Shower 22 O-Ring @6x15 2
9 Handle insert + stopring A 963 432 NU 1 Set 23 Cylindrical screw M6x12 DIN 6912 Q
10 Headwork ( Cartridge ) A 963 400 NU 1 pcs 24 Diverter complete A 963 336 AA 1 pcs E
1 Cover for B/S&Shr 150mm A 962 223 AA 1 pcs 25 Spout complete A 4512 AA 1 pcs 2
12 Back plate ( frame ) 26 Aerator M24x1 -D- A 960 537 AA 1 pcs
13 Ring ( Clip )

14 Coupling nut G3/4 - SW30

Nimbus Therm



Nimbus Therm A5551..

VEINLO

Produced from: July 2010

G3/4 |4 150 — »|

D

307

chrome

Bath/Shower Thermostat

A5551AA

Part- Part-
Pos.  Description Number Qty. Pos.  Description Number Qty.

1 Cap for handle A 962 221 NU 1 Set 15 Ring (Clip)

2 Screw Ejot PT KB50x10 16 Coupling nut G3/4 - SW30

3 Handle with screw set A 962 222 AA 1 pcs 17 Non-return valve DW15 A 962 594 NU 2 pcs

4 Screw M4 L=23,5 A 962 998 NU 2 pcs 18 O-ring @17x2 A 961 810 NU 2 pcs g

5 Handle with screw set A 962 222 AA 1 pcs 19 Seat M20 x 1 left thread (7}

6 Temp. adjustment compl. A 963 427 NU 1 Set 20 Strainer ( screen) A 962 595 NU 2 pcs i -

7 Thermostatic Cartridge A 962 229 NU 1 pcs 21 Nipple G1/2 for shower -
(")

8 Repair-Set Cartridge A 962 230 NU 1 Set 22 Aerator M24x1 -C- A 961132 AA 1 pcs =

9 Body for Bath/shower 23 Pull knob A 963 537 AA 1 pcs Q2

10  Handle insert + stop ring A 963 432 NU 1 Set 24 Diverter cpl. with knob A 960 575 AA 1 pcs E

1 Headwork ( Cartridge ) A 963 400 NU 1 pcs sm—

12 Cover for B/S 150mm Z

13 Sealing stripes

14 Back plate ( frame)

Nimbus Therm



Nimbus Thermostaat VETNLO

Douchethermostaat F 2720 AA

6
Pos. Art. nr. (set aantal) Benaming
1 F 963 408 AA Temperatuurknopthermostaat Nimbus
2 F 963 282 NU Aanslagring temperatuur
3 F 963 280 NU Temperatuurpatroon
4 F 963 073 NU Keramisch bovendeel 180°
5 F 963 411 NU Aanslagring volumestroom
6 F 963 409 AA Volumeknop thermostaat Nimbus

R-01



Nimbus Thermostaat VETNLO

Douchethermostaat F 2721 AA

0o,
“@

’ 5
6

Pos. Art. nr. (set aantal) Benaming
1 F 963 408 AA Temperatuurknop thermostaat Nimbus
2 F 963 282 NU Aanslagring temperatuur
3 F 963 280 NU Temperatuurpatroon
4 F 963 073 NU Keramisch bovendeel 180°
5 F 963 411 NU Aanslagring volumestroom
6 F 963 409 AA Volumeknop thermostaat Nimbus

R-01



Nimbus Thermostaat VETNLO

Badthermostaat F 2722 AA

Pos. Art. nr. (set aantal) Benaming

1 F 963 408 AA Temperatuurknop thermostaat Nimbus
2 F 963 282 NU Aanslagring temperatuur

3 F 963 280 NU Temperatuurpatroon

4 F 963 073 NU Keramisch bovendeel 180°

5 F 963 411 NU Aanslagring volumestroom

6 F 963 409 AA Volumeknop thermostaat Nimbus

7 F 963 415 AA Omstelling compleet

8 F 963 120 AA Inschroef perlator M24x1

R-01



Nimbus Thermostaat VETNLO

Keukenwandthermostaat F 2723 AA

@
0.@

<D 4
=l
5
6
7
& |7.1

Pos. Art. nr. (set aantal) Benaming
1 F 963 408 AA Temperatuurknop thermostaat Nimbus
2 F 963 282 NU Aanslagring temperatuur
3 F 963 280 NU Temperatuurpatroon
4 F 963 073 NU Keramisch bovendeel 180°
5 F 963 411 NU Aanslagring volumestroom
6 F 963 409 AA Volumeknop thermostaat Nimbus
7 F 963 266 AA Uitloop G1/2”, 180 mm lang

71 F 963 120 AA Inschroef perlator M24 x 1

R-02



	A4502_SparesL_NN
	A4503_SparesL_NN
	A4504_SparesL_EN
	A5551_SparesL_EN
	Venlo_VenloNimbusThermostaat_MP_NL_Bathroom;Kitchen
	F2720AA_is_H3046A01
	F2721AA_is_H3046A02
	F2722AA_is_H3046A03
	F2723AA_is_H3046A05-R02


